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Evaluate the indicated integral.

f.rw:r‘* +3dx

1 3

O J&*+3)2+c
1 3

O g(x4+3)?+c
s 3

O > (x*+3)2+¢

1 1
O g(x4+3)?+c
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4 s 4 =
f, f(x)dx = =5 and [, g(x)dx = 3. S g(xdx =35 [} f(x)dx = -5

4
find [, [4g(x) — 3f(x)]dx. [Yi4g(0) - 3f(0)]dx 5
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Value Theorem f(¢) = ﬁf: f(x)dx

2
f 3x? dx(=8)
0
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integral or sum of integrals. Pl paa 23U
D The area above the x —axis and Cady X — aal 38 dalud
below y = 4x — x2. .y =4x —x*
0
O J —(4x — x?)dx s
-4
4
@) [ (4x — x*)dx b
J0
4
O f —(4x — x%)dx r
0

3 O J:(fil-x — x%)dx d
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D Evaluate the indicated integral.
1

ftan 2xdx
QO -—cot2x

1
O —Elnlcos 2x| + ¢

sin2x

cos2x

1
O —=In|sin2x| + ¢
) °
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